
.
Stromlauf 01 02

I] ~ --.t- ,,;u=2
~1 ~., a

') '\... .. /

~se2 ~ , I i'_ w ~ \• c....
v~~/ötet

Rl~~ -. -.D ....~
Sinnbild ~ -,ie.D

~§~

t-- \ /+r+-el+C_(;

~ &!"i~
Kennpu~ +1•• 1+~io

5~c ...
~J+c • .

"-~c~.... ."
, -

e ...
5 7 Orahtwickel 2603-570 -1~"OQ

l:!= C ----!J! & R 1 Schichtwiderstand 5k/2/2 WN 5121 -0526Q..ce
0··..~~

Il:!"W
!2~ 02 1 Germaniumdiode L 8011 WN 5457 -05202"!o

,Z~ • 01 1 Germaniumdiode L 8011 WN'5457 ·05202-t; ... '".....
Bi~fJunQ n. 24 - 5459...1:="' Pos. Sie Kz. Be~nnung Sach-Nr... <'".n 0

.~~ _I 73-542'00 r-2->..: '-I -
r,.........,..,.. I Morllilob

I --C) =1_- ---- 2:1 & 5-2~-1-- - Gel. 18. 'T. 1'~81 r., "' .. ü=:==, 1--=___ \

~ 810lt

~"'I;
2350-311-1a'n7.S"81NZ3*/68ZI ~1-'--

~.I TOll I M;".ölung l_eoLi'" IGep,.! "G~' I~
< I A 5


